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ahjhapDnkhU fzpjr; nra;ifia tpiuthfTk;
,yFthfTk; rupahfTk; nra;J nfhs;tjw;Ff;
fzpfUtp cgNahfg;gLfpd;wJ. nraw;ghl;bd;
mbg;gilapy; rhjhuz fzpfUtp> tpQ;Qhd Kiwf;
fzpfUtp vdf; fzpfUtpfs; ,uz;L tifg;gLk;.
kdpj %isapdhy; nra;af;$ba rpy Ntiyfisf;
fzpfUtpapd; %yk; nra;jhYk; kdpj %isf;Fs;s
Mf;fr; rpe;jid Mw;wy; vJTk; fzpfUtpf;F ,y;iy.
rhjhuz fzpfUtp

gy;NtWgl;l epWtdq;fs; fzpfUtpfisj;
jahupg;gjhy; mtw;wpd; tpirg;gyiffspy;
r pw pa tpj ;j pahrq;fs; ,Uf;fyhk ; .
tpirg;gyifapy; rhtpfis ,af;Ftjhy;
fpilf;Fk; tpilfs; fhl;rpj; jpiuapy;
ngwg;gLk;.

 ,g;ghlj;ijf; fw;gjd; %yk; ePq;fs;
 rhjhuz fzpfUtp xd;iwAk; mjd; nraw;ghLfisAk; mwpjy;

 ehd;F mbg;gilf; fzpjr; nra;iffisAk; nra;jy;

 kPz;Lk; kPz;Lk; $l;ly;> fopj;jy;> ngUf;fy;> tFj;jy; Mfpatw;iwr;

nra;af; fzpfUtpia cgNahfpj;jy;

 xU khwpypiaf; $l;ly;> fopj;jy;> xU khwpypapdhy; ngUf;fy;> tFj;jy;
 epiwnaz;fs;> gpd;dq;fs;> jrkq;fs;> rjtPjk; vd;gd njhlu;ghd

fzpjr; nra;iffSf;fhff;  fzpfUtpia cgNahfpj;jy;

 Xu; vz;zpd; ,uz;lhk; tY> tu;f;f %yk; vd;gtw;iwg; ngw;Wf;

nfhs;tjw;fhf cgNahfpj;jy;.

 fzpfUt p  %yk;  vz;Nfhyq;fis  cUthf;fp  mjd;  %yk;  kfpo;r;rpailjy;

vd;Dk; Nju;r;rpfis miltPu;fs;.

11fzpfUtp

11.1   fzpfUtpia mwpe;J nfhs;Nthk ;

fhl;rpj; jpiu

tpirg; gyif

<

<

fp.gp. 1883 ,y; rhu;s;];

ngNg[; mtu;fs; Kjd;

Kjypy; fzpfUtpiaj;

jahupj;jhu;.
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=ON 5 2 + 5 CE 8 7

gapw;rp 11.1

fzpjr; nra;iffSf;fhf        Mfpa rhtpfisg; gad;gLj;Jk;
Kiwiaf; fhl;Lk; rpy cjhuzq;fs; fPNo fhl;lg;gl;Ls;sd.

vy;yhf; fzpj;jy;fSf;Fk; fzpfUtpiag; gad;gLj;Jf.
1. RUf;Ff.

(i) 1007 + 75 (ii) 75 + 27 −−−−−12 (iii) 2.75 + 7.2

(iv) 1003 −−−−− 97 (v) 380 × 227 (vi) 0.005  × 47

(vii) 512 −−−−− 3.2 (viii) 
43 75

35

.

2.                      vd;w xOq;fpy; rhtpfis ,af;Fk;NghJ
fhl;rpj; jpiuapy; ngwg;gLk; vz; ahJ?

 11.2  xU fzpfUtpapd; tpirg;gyifia mwpe;J nfhs;sy;

cjhuzk; 11.1

+ − × ÷

  rhtp   njhopw;ghL

;

C E C L

AC

=

+ −−−−− ××××× ÷÷÷÷÷

fzpjr; nra;iffspd; tpilfs; fhl;rpj; jpiuapy; Njhd;Wk;.
xU fzpjr; nra;ifapd; gpd; jtWjyhf cl;gLj;jpa
Xu; ,yf;fj;ij mopj;J tpLk;
ahTk; mope;JtpLk;
rhtpapy; fhl;lg;gl;Ls;s fzpjr; nra;if ,lk;ngWk;.

fzpfUtp njhopw;glj; njhlq;Fk;.
fzpfUtpapd; njhopw;ghL epWj;jg;gLk;.

mOj;Jk; rhtpapYs;s ,yf;fk; my;yJ jrkg;Gs;sp
fhl;rpj; jpiuapy; Njhd;Wk;.

7 8 9

4 5 6

1 2 3

0 .

ON/C

OFF

(i) 135 + 87 222

(ii) 521 − 97 424

(iii) 735 × 49 36015

(iv) 1078 ÷ 98 11

(v) 27.5 ×  57 1567.5

5 2 1  − =
7 3 5  × 4 9

2 7 .  5 ×  5 7

1 0 7  8 ÷ 9 8 =

ON 1 3 5 + 8 7 =

9 7
=

=

RUf;Ff. nraw;ghL tpil

ON

ON

ON

ON
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3 . nrt;tf tbtpyhd xU taypd; ePsk;
17.5 m  ck; mfyk; 3.8 m  ck; MFk;.
mjd; gug;gsitf; fhz;f.

4. &gh. 26 250 I 35 khztu;fspilNa rkdhfg; gq;fpl;lhy; xUtu;
ngWk; njhif ahJ?

5. uh[htpd; khjr; rk;gsk; &gh 8295.50 MFk;. mtdJ Mz;Lr;
rk;gsk; ahJ?

6.  fhu;j;jpfh 37.5 × 15 vd;gjd; tpiliag; ngw;Wf; nfhs;tjw;fhff;
fzpfUtpia ,af;fp 56.25 I tpilahfg; ngw;whs;.
mtsJ tpil rupahdjh? gpioahdjh? gpioahapd;> mts; tpl;bUf;ff;
$ba gpio ahJ?

fzpfUtpiag; gad;gLj;jp Xu; vz;Zld; ,d;Ndhu; vz;iz kPz;Lk;
kPz;Lk; $l;Ltij my;yJ fopg;gijr; nra;ayhk;.

5 cld; 3 I kPz;Lk; kPz;Lk; $l;Lf.
,jw;fhf>
          rhtpfis ,af;fpj; Njitahd jlitfs;    rhtpia
,af;Fk; NghJ   8, 11, 14, 17...... vd tpilfs; ngwg;gLk;.
rpy fzpfUtpfspy;>             rhtpfis ,af;fp    rhtpia
Njitahd jlitfs; ,af;f Ntz;bapUf;Fk;.
NkYk;>              my;yJ                vdr; rhtpfis
,yf;fq;fis khw;wp ,af;fNtz;ba fzpfUtpfSk; cz;L.

17.5 m

3.8 m

ON 5 + 3 =

=

11.3  kPz;Lk; kPz;Lk; nra;ag;gLk; fzpjr; nra;iffs;

cjhuzk; 11.2

ON 5 +  + 3

ON 3 +  + 5 =ON 3 +  5 =
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fPNo jug;gl;Ls;s cjhuzq;fisr; nra;J tpilfisg; ngWf.

45 ,ypUe;J 3 I kPz;Lk; kPz;Lk; fopf;f.
rhtpfis ,af;fp r ht pia k Pz ;Lk ;  k Pz ;Lk ;

,af;Fk;NghJ tpilfs;   42, 39, 36,......... vdg; ngwg;gLk;.

5 I 2 ,dhy; kPz;Lk; kPz;Lk; ngUf;Ff.
             rhtpfis ,af;fp my;yJ                rhtpfis ,af;fp
   rhtpia kPz;Lk; kPz;Lk; ,af;Fk;NghJ tpilfs; 10> 20> 40 ... MFk;.

200 I 2 ,dhy; kPz;Lk; kPz;Lk; tFf;;;f.
            rhtpfis ,af;fp     rhtpia kPz;Lk; kPz;Lk; ,af;Fk;
NghJ tpilfs; 100> 50> 25 ......... MFk;.

xU fzpfUtpia ,af;fpf; fPNo fhl;lg;gl;Ls;s cjhuzq;fis tpsq;fpf;
nfhs;Sq;fs;.

(i) xU khwpypiaf; $l;Lf.
38> 70> 135 Mfpa vz;fSf;F 20 tPjk; $l;Lf.

 my;yJ

tpilfs; 58> 90> 155 MFk;.
(ii) xU khwpypiaf; fopf;f.
1200, 1570, 1800, 2000 Mfpa vz;fspypUe;J 135 tPjk; fopf;f.

tpilfs; 1065, 1435,1665>1865 MFk;.

cjhuzk; 11.3

cjhuzk; 11.4

cjhuzk; 11.5

11.4  xU khwpypAldhd fzpjr; nra;iffs;

cjhuzk; 11.6

ON 20  + + 38 =

70 =

=135

ON 38 + + 20 =

70 =

=135

135ON − −1200 =

=

=

1570

1800

 2000 =

3ON 45 −−−−−    =

ON 200 ÷÷÷÷÷ 2    =

ON 5 ××××× 2 ON 2 ××××× 5

=
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gapw;rp 11.2

(iii) 5, 15, 35 Mfpa vz;fis 2 ,dhy; ngUf;Ff.

tpilfs; 10> 30> 70 MFk;.
(iv) 200,160,70 Mfpa vz;fis 2 ,dhy; tFf;f.

tpilfs; 100> 80> 35 MFk;.

1. 70 cld; 5 I kPz;Lk; kPz;Lk; %d;W jlitfs; $l;bg; ngWk;
tpiliaf; Fwpf;f.

2. &gh 600 ,ypUe;J kPz;Lk; kPz;Lk; &gh 35 tPjk; fopf;Fk;NghJ
fpilf;Fk; ehd;F tpilfis vOJf.

3. 512 × 2 × 2  × 2  ,d; ngWkhdj;ijf; fhz;f.
4. 5478 ÷ 2 ÷ 2 ÷ 2 ,d; tpiliag; ngWf.
5. 20 ,w;Fg; Gs;sp toq;fg;gl;l xU nraw;gj;jpuj;Jf;Fr; rpy khztu;fs;

ngw;Wf; nfhz;l Gs;spfs; fPNo fhl;lg;gl;Ls;sd. ,g;Gs;spfis 100
,w;fhd Gs;spfshf khw;Wf.
6, 8, 10, 14, 16, 18

6. kPz;Lk; kPz;Lk; nra;ag;gLk; fzpjr; nra;iffisg; gad;gLj;jpf;
fPNo fhl;lg;gl;Ls;s vz; Nfhyq;fspy; mLj;j 3 cWg;Gfisf; fhz;f.
(i) 5, 7, 9, 11 --- --- ---

(ii) 58, 53, 48, 43 --- --- ---

(iii) 2, 6, 18, --- --- ---

(iv)400, 200 --- --- ---

ON  2 ××××× ×××××  5 =

15 =

=  35

ON  200 ÷÷÷÷÷ ÷÷÷÷÷ =
=

=  70

160

2
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7. Xu; mYtyfj;jpy; cs;s vl;Lg; gzpahsu;fspd; khjr; rk;gsq;fs;
&gha;fspy; fPNo fhl;lg;gl;Ls;sd.
8 000, 9 200, 11  500, 11  800, 12  000, 15  200, 17  500, 20  000

xt;nthU rk;gsj;Jf;Fk; &gh 675 tPjk; $l;b Gjpa rk;gsg;
gl;banyhd;iwj; jahupf;f.

gpd;dq;fisj; jrk vz;fshf khw;Wtijf; fhl;Lk; cjhuzq;fisg;
guPl;rpj;Jg; ghu;j;J tpsq;fpf; nfhs;f.

epiwnaz;fisf; Fwpg;gjw;F      rhtp gad;gLj;jg;gLk;.
Neu; epiwnaz;fisf; Fwpf;Fk;NghJ + FwpaPL mtrpakw;wJ. MapDk;
kiw epiwnaz;fisf; Fwpf;Fk;NghJ − FwpaPL mj;jpahtrpakhdJ
vd;gij mwpNthk;.
            vd;gtw;iw mOj;jp       rhtpia kPz;Lk; kPz;Lk; ,af;Fk;
NghJ 7, −7, 7 −7, 7 --- fpilf;fg; ngWk;.

+/−−−−−

11.5  gpd;dq;fisj; jrkq;fshf khw;Wjy;

cjhuzk; 11.7

11.6  epiwnaz;fisr; RUf;Fjy;

gpd;dk;        nraw;ghL       jrk vz;
(i) 0.125

(ii) 0.6666----

(iii) 0.41666 ----

1

8

2

3

5

12

ON 1 ÷ 8 =

ON 2 ÷ 3 =

ON 5 ÷ 12 =

+/−−−−−7ON
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gapw;rp 11.3

RUf;Ff.

fPNo cs;s cjhuzq;fspy; fhl;lg;gl;Ls;s RUf;Fk; nrad;KiwiaAk;
tpiliaAk; guPl;rpj;Jg; ghu;f;f.

1.
3

4
 Ij; jrk vz;zhf khw;Wk; nray; xOq;iff; fl;lq;fSf;Fs;

vOJf.

2. fzpfUtpiag; gad;gLj;jpf; fPNo fhl;lg;gl;Ls;s gpd;dq;fisj; jrk
vz;fshf khw;Wf.
(i)

1

4
(ii)

3

8
(iii)

8

15
(iv)

13

20

(v)
8

25
(vi)

1

3
(vii)

1

6
(viii)

5

11

3.
22

7
 ,d; ngWkhdj;ij %d;W jrk jhdq;fSf;F kl;le;jl;Lf.

4. RUf;Ff.
(i) 125 + (−17) (ii) (−12) − (−27)

(iii) (−36) ÷ (−4) (iv) 2.5 × (−10)

(v) (−7) × (−8) ÷ (−28)

cjhuzk; 11.8

3

7
 ,d; ngWkhdk; fpl;ba %d;W jrk jhdq;fSf;F

0.429 vdg; ghj;jpkh $Wfpwhs;. (fzpfUtpiag;

gad;gLj;jp) mtsJ $w;W cz;ikahdJ

vd;gjw;Ff; fhuzk; $Wf.

rhjhuz fzpfUtpapdhy;

fzpjr; nra;iffisr;

nra;Ak;NghJ BODMAS

xOq;ifg; gpd;gw;w Ntz;Lk;.

ON

−

(i) 5 + ( −27)

(ii) (−2) − (−1)

(iii) (−12)÷(−2)

(iv) (−8) × 25

(v)
3 15

9

×

−

−22

−1

6

−200

5 + 27 +/− =

2 +/− − 1 +/− =

+/− × +/− =3 15 ÷ 9

+/− ÷ 2 +/−12 =

+/− ×8 25 =

5

ON

ON

ON

ON

ON
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xU gpurpdj;ijj; jPu;j;J Kbe;jJk; cldbahf fhl;rpj; jpiuapypUe;J
M  I ePf;f Ntz;Lk;.

RUf;Ff.

45

7 2+
 RUf;Ff.

tpil =  5

,Wjpapy; M I ePf;Ftjw;fhf          I mOj;Jjy;

xU kPw;wu; &gh 70 tPjk; 2.25 m JzpAk; xU kPw;wu; &gh 17.50 tPjk;
1.5 m Nwe;ijAk; thq;Ftjw;Fr; nrythFk; njhifiaf; fhz;f.

tpil &gh 183.75

       I mOj;Jjy;.

MC

MC

rhtp nraw;ghL
jfty;fis Qhgfj;Jf;F mDg;Gjy;
Qhgfj;Jf;F mDg;gpa jfty;fisf; fhl;rpj;
jpiuapnyLj;jy;
Qhgfj;ij ePf;Fjy;
Qhgfj;Jf;F mDg;gpa jftypypUe;J xU
ngWkhdj;ijf; fopj;jy;

M+

MR RM

MC CM

M-

    11.7  Qhgfr; rhtpiag; gad;gLj;jy;

cjhuzk; 11.9

cjhuzk; 11.10

157.50

26.25

183.75

×

=70ON × 2.25 M+

17.50 1.5 = M+

MR

ON 7  + 2 = M+ 45 ÷ MR =
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1. Qhgfr; rhtpiag; gad;gLj;jpf; fPNo fhl;lg;gl;Ls;s RUf;Fjy;fisr;
nra;f.

(i)
17

7 2−
(ii)

5 3

4 2

+

×
(iii)

23 24

5 8 4 6

×

−. .

(iv)
37 8 4

57 19

×

÷

.

(v)
17 5 3 5

12 8 2 3

. .

. .

+

−

2. fPNo fhl;lg;gl;Ls;s gw;Wr;rPl;ilj; jahupg;gjw;F Qhgfr; rhtpiag;
gad;gLj;Jf. ,g;gw;Wr;rPl;ilr; nrYj;Jtjw;fhd njhifiaf; fzpf;f.

rjtPjr; rhtp

1. &gh 80 ,d; 5% vt;tsT?

&gh 4

2.
3

5
 Ir; rjtPjkhfj; jUf.

60%

nghUs;       msT

kzy; 3 fpA+g; 800

rPnke;J 12 igfs; 750

Rz;zhk;G 2 igf;fw;Wf;fs;   85

Xu; myfpd; tpiy

(&ghapy;)

%

gapw;rp 11.4

    11.8  rjtPjk;> tYf;fs;> tu;f;f%yk;

cjhuzk; 11.11

80 × 5 % =ON

÷ 5 % = 3ON
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gapw;rp 11.5

Xu; vz;zpd; tu;f;fk;

      rhtpapd; %yk; Xu; vz;zpd; ,uz;lhk; tYitg; ngw;Wf; nfhs;syhk;.

7
2
 If; fhz;f.

= 49

Xu; vz;zpd; tu;f;f %yk;

 rhtpapd; %yk; Xu; vz;zpd; tu;f;f %yk; fhzyhk;.

289  If; fhz;f.

fzpj;jy;fSf;fhff; fzpfUtpiag; gad;gLj;Jf.
1. ngWkhdj;ijf; fhz;f.

(i) &gh 1200 ,d; 8% (ii) 3600 ,d; 12.5%

2. xU guPl;irf;Fj; Njhw;wpa 25 khztu;fspy; 18 Ngu; rpwg;ghfr; rpj;jp
ngw;Ws;sdu;. rpj;jpr; rjtPjj;ijf; fzpf;f.

3. gpd;tUk; gpd;dq;fisr; rjtPjkhfj; jUf.
(i) 
2

5
 (ii) 

3

4
(iii) 

20

40
(iv) 

11

5

4. ngWkhdj;ijf; fhz;f.
(i) 9

2
(ii) 35

2
(iii) 1.5

2
(iv) 2.5

2
(v) 2.75

2

5. ngWkhdj;ijf; fhz;f.
(i) 25 (ii) 169 (iii) 324 (iv) 12 25. (v) 27 04.

rhtp      vd ,Ug;gpd;

vd ,af;Ff.
 7 x

y 2 =

x
y

x
2

cjhuzk; 11.12

cjhuzk; 11.13

289

x
27ON

ON = 17
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6. RUf;Ff. 22
7

1 5 2 8
2

× ×. .

7. RUf;Ff. 5 12 1 44

0 6

. .

.

×

8.
3

2
 ,d; ngWkhdj;ij Kjyhk; jrk jhdj;Jf;F kl;le;jl;Lf.

9. (i) 1, 2, 3, 4, 5, 6, 7, 9 Mfpa vl;L ,yf;fq;fisAk; xU fzpfUtpapd;
fhl;rpj; jpiuapnyLj;J          rhtpfis mOj;Jf.

(ii) kPz;Lk; 1, 2, 3, 4, 5, 6, 7, 9 vd;gtw;iwf; fhl;rpj; jpiuapnyLj;J
 rhtpfis mOj;Jf.

(iii)  5 5 5 5 5 5 5 5 5  vd ckJ fzpfUtpapd; fhl;rpj; jpiuia
epug;Gtjw;F ePq;fs; mOj;jNtz;ba rhtpfis vOJf.

10.! fPNo fhl;lg;gl;Ls;s RUf;Fjy;fis ckJ fzpfUtpapdhy; nra;f.
! ckf;Ff; fpilf;Fk; vy;yh tpilfisAk; fzpfUtpiaj;

jiyfPohfg; gpbj;Jg; guPl;rpj;Jg; ghu;f;f. mtw;why; $wg;gLk;
xt;nthU Mq;fpyr; nrhy;Yk; ahnjdg; ghu;f;f.

(i)

(ii)

(iii)

× 18 =

× 9 =

35 × 1000 + 6 =

35  ×       100        +       4     =

 27  ×  2000 - 2 = ÷ 7 =


